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spline # smooth BH#& Bézier H#

\begin{tikzpicture}[thick,scale=1.1]

\draw[green!50,thin] (0,0)grid(4,2);

\draw plot [mark=*,smooth,tension=0.55] coordinates {(0,0) (1,1) (2,0) (4,2)};
\draw(2.5,-0.5)node{\bf spline %! smooth Hli#i};

\begin{scope} [xshift=6cm]

\draw[green!50,thin] (0,0)grid(4,2);

\draw(0,0)..controls (1,1) and (2,0) ..(4,2);

\draw(2.5,-0.5)node{\bf B\’{el}zier Hi#i};

\end{scope}

\end{tikzpicture}
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\draw plot [smooth,tension=0.55] coordinates {Z%HXUJHEIEER};
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\begin{tikzpicture} [baseline=0,thick,scale=1.3]

\draw plot coordinates
{(0,1) (162:1) (234:1) (306:1) (378:1)};
\begin{scope} [yshift=-2.2cm]

\foreach \x in {0,1,2,3,4}

{\draw (90+\x*72:1)to (162+\x*x72:1) ; };
\end{scope}

\end{tikzpicture}
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Ro TWERBNDLHZ TESETTN, KUY &L, TRX EXTHHEDLNLTWVWETO T, Ny
FTUTTHZERNDY TV, BT Beamer b A ANiE, FEREOXY Y L5 ICIIAE
DR Z ERHVET, ZOLIREHILLTOL I T OE S NMLETT

\matrix (m) [matrix of nodes,
ampersand replacement=\&]

{A\& B\\ *-*
ZZTCHEMZRLOROTZEOLEITEHN T, ZUisTBE, Pt 18k (m-1-1) 72
SIXEEGREIT =0T ADT, BEF LESTWEOTTR, IKBRYObh5 ) — REKThH
&N £ LT, Tikz Tl node A ITFEINTHE Y £32%, 402 (A) Dnode (FHIK) &
JEREDBMRIZTEICH Y 9, FEARHIFEIN T > T 72 &0,

J — K48l (A) DEEAZ

A.north west A.north A.north east
[} [ ] [ ]
A.center
A.west ® . ® A east
[ ] (] L]
A.south west A.south A.north east
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\documentclass{jarticle}
\usepackage{amsmath,amssymb, color}
\usepackage [dvipdfmx] {graphicx}
\usepackage{tikz}
\usetikzlibrary{matrix,calc}

\begin{document?}

\begin{tikzpicturel} [baseline=-20pt,thick]

\matrix(m) [matrix of math nodes, row sep=2cm,

Hp column sep=2.5cm]

{A&B\\C&D\\};

C+——D \fill[yellow] ($(m-1-1.south east)+(-0.1,0.1)$)%
rectangle(m-2-2.north west);

\draw (m-1-1)edge[>->] (m-1-2) edge[->>] (m-2-1)
(m-1-2)edge[->,bend left] (m-2-2) (m-2-1)edgel[<->] (m-2-2)
(m-1-1)edge[->]node[below left]{$\exists\psi$}(m-2-2);

\end{tikzpicture}
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\documentclass{jarticle}

\usepackage{color}

\usepackage [dvipdfmx] {graphicx}

\usepackage{tikz}

\begin{document}

\begin{tikzpicture} [thick,scale=0.9]

\draw[thin,color=cyan] (-6,-1)grid(6,5);

\draw[line width=2pt] (-4,0)node[fill=black,circle]{ }node[above left]{$A$}

--(4,0)node[fill=black,circle]{ }node[above right]{$B$}--(2,{sqrt(189/25)})--cycle;

\begin{scope} [shift={(2,{sqrt(189/25)})},rotate=60]
\draw[fill=green] (0.7,0.22)to[bend right] (0.7,0.11)
to[bend right](0.7,-0.11)to[bend right] (0.7,-0.22)--(2.5,-0.22)--(2.5,0.22)--cycle;
\draw[fill=red!10] (0.7,0.22)to[bend right] (0.7,0.11)
to[bend right](0.7,-0.11)to[bend right] (0.7,-0.22)--(0,0)--cycle;
\draw[fill=black] (0,0)--(0.233,0.0733)to[bend right] (0.233,-0.0733)--cycle;
\draw[thin] (0.7,0.11)--(2.5,0.11) (0.7,-0.11)--(2.5,-0.11);

\end{scope}

\end{tikzpicture}\end{document}
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rotate around={ fA & (H.[x JEAE, F0 y JEAE) }

T, FEHEOFLHIFETEET,

7272, B X D 72T (B b 2L E CRUSHLIZET 26 D T % scope N THEX
A7 a o ChElE - SETREISE D) Db EbivET,

JERME N b AT > 3 TAEETT,

scale=RF3R  #HLamyic  xscale=ff%5E, yscale=MifF3
TTEET, TNHEARFERFOLICRY ETH, HXTHROFLEEZ T2V E &I
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\def\yajiri#1#2{%L% i~ 7 =
\begin{scope} [shift={#1},rotate=#2]
\draw (0,0)edge (-0.2,0.1) edge (-0.2,-0.1);
\end{scope}
}
\begin{tikzpicturel}[baseline=0,thick]
\draw plot coordinates {(0,0) (1,1) (2,0) (4,2)};
\foreach \x/\y/\r in {1/1/45,2/0/-45, 4/2/45%}
\yajiri{(\x,\y){\r};
\begin{scopel} [xshift=5cm]
\draw plot [smooth] coordinates {(0,0) (1,1) (2,0) (4,2)};
\foreach \x/\y/\r in {1/1/20,2/0/-10, 4/2/45%}
\yajiri{(\x,\y){\r};
\end{scope}
\end{tikzpicture}
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[1] J.P.Casteleyn, Visual Tikz. https://www.ctan.org/pkg/visualtikz

2] BEHE — TEX M F 4 75 U TikZ O340, ERSEREH A2, 98(2016), 7-18.

Dl E, BEOT— 4 CHRRREH &
\begin{tikzpicture} [baseline=0,thick]
\coordinate (P) at (0,0);
\foreach \x/\y in {1/1,2/0,4/2}
{\draw[->] (P)--(\x,\y) ;\coordinate (P) at (\x,\y);}
\end{tikzpicture}
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